How can you support your child in the maths SAT tests?

Key Stage 2 maths

Children sit three papers in maths:
+ Paper 1: arithmetic, 30 minutes
* Papers 2 and 3: reasoning, 40 minutes per paper

Paper 1 will consist of fixed response questions, where children have to give the correct answer to calculations,
including long multiplication and division. Papers 2 and 3 will involve a number of question types, including:

* Multiple choice
+ True or false
* Constrained questions, e.g. giving the answer to a calculation, drawing a shape or completing a table or chart

* Less constrained questions, where children will have to explain their approach for solving a problem
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The reasoning papers include worded questions like the example shown. -
: www.padlet.com/med1/SATrevision

16 Large pizzas cost £8.50 each,
Small pizzas cost £6.75 sach,
Five children together buy one large pizza and thrae small pizzas.

They share the cost equally.

How much does each child pay?
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Things to nractise:

® Times tables including related division facts eg, 4x7=28, 40x7=280 28 +4=7, 280-+7=40

®  Multiplying by 10,100 and 1000 eg,3x10=30 0.3x100=30 460+10=46 9+10=0.9
 Calculations with decimals eg,12.4+9.65=22.05 12-9.6=24 15-1.07=13.93
e Short and long multiplication eg, 16x8=128 and 1.6 x8=12.8 156x8=1248 15x23=345
e Short 7 eg, 568+8=71 728 +13=56 124.6+-2=62.3

e Square numbers and cube numbers 32-3x3=9  7%=49 2*=2%2x2-=8

© Telling the time digital and analogue clocks 4.25pm=16:25
e Calculating with fractions +- X =
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Year 6 maths quiz: memory masterming!

Multiplication and division vocabula

1) Uistall the factors of 36:

2) Listall the common factors of 24 and 32:

3) Listall the prime numbers under 20:

4) What's a composite number?

5) What are the prime factors of 127
6) Listthe first 6 multiples of 9:
7) What is the lowest common multiple of 4 and 67

8) Llst 3 different square numbers: i and
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Eractions, decimals & percentages
Complete the conversion grid.
Fraction | Decimal Percentage | Operation
Vs
0.2
1%
<+ 10
% +4,x3
0.25
5%

Angles
Complete the grid.

How many degrees...

inafull turn? .

ina halfturn?

in a right angle?

in an acute angle?

in an obtuse angle?

in a reflex angle?

on a straight line?

inside a triangle?

inside a quadrilateral?

2D shapes

Complete the grid.

i Name

No. of side

octagon

5

nonagon

|
-

guadrilateral

10

h hexagon

What is a polygon?

What's the difference between a regular an irregular polygon?

" D A
What is the area of this triangle?
Area= s
B don C
What is the area of this parallelogram? 6em
Area = . Zem

Below each shape, write its name (don’t just write ‘triangle’ for the first 3 — be specificl)
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Measurement conversions

Shape vocabulary

Drawahorizontal | o vertical fine. ¢
line. lines.

Draw a pair of parallel

Draw a pair of
perpendicular lines.

Label this circle with its
circumference, radius and
diameter.

1) List all the months that have exactly 31 days:

2) List all the months that have exactly 30 days:

3) What's different about a leap year?

Complete the conversions.

lem = mm | lkm= m 1litre = ml

im= cm | 1mile= km | 1 kilogram = g

Roman numerals

Complete the grid. 1=|] =X 100 = 1000 = ; |_
- =V |50= =D

Co-ordinates Write an X on the co-ordinate (3,5). The mean

Bl

% 157,283

3 Mean =

What is the mean of the following numbers?




